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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
.18
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Section : General Section

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true. even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements. PY ‘

Statements:
1. All pupils are crows.

2. All crows are cats.

Conclusion
I. All cats are crows. @

II. Some crows are pupils.

Ans X 1. Only conclusion I follows. Q

/< 2. Both conclusions follow.

Question ID : 9895802535
Chosen Option : 4

/< 3. Either conclusion I or conclusion II f{)ll@
' 2 Only conclusion II follows. Q
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Q.2 Select the option that is related to the third t e s%’ay as the second term is related to the first term.
Lethargy : Alertness : : Peace: ?

Ans X 1. Cheer

v 2. Chaos
X 3. Chat
X 4 Choose

Question ID : 9895802528
Chosen Option : 1

Q.3 select the option that is related to the third number in the same way as the second number is related to the first number.

22:441::13:7?

Ans x 1.3
v 2 144
X3 275
X 4169
Question ID : 9895802539
Chosen Option : 2
Q.4
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Select the correct option that will fill in the blank and complete the series.

RTN, SRO, TPP. UNQ, ?
Ans x 1. VIR

X 2. VLP

v 3 VLR

X 4 VIP

Question ID : 9895802524
Chosen Option : 3

Q.5 There is only one runway which will be used by seven flights one by one. P and Q will use the runway neither first nor
last. § will use it second after R. M will use it second before O. N will use it after O and before R. Q will use it just
before S. Who will use the runway third after O?

Ans X]_N
X2P
X3 R ¢ &
v Q

ulstion TY: 9895802534
sen :
Q-6 Identify the decimal number that will come next in the foll% "y

10, 9.9, 9.89, 9.889, 9.3839,

Ans X 1. 9.88999 (b’
X 2.9.38888 Q

< 3. 9.08889

Question ID : 9895802538
Chosen Option : 4

v 4 9.88889 o 0
\

Q.7 Select the option that will co: e the question mark (?) in the given pattern.

Question ID : 9895802541
Chosen Option : 2

Q.8 Tn a certain code, VIRUS is written as 46. How will CRUST be written in that code?
Ans x 1. 50
X 2 57
v 3 54
X 4 55
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Question ID : 9895802531
Chosen Option : 3

Q.9 Four numbers have been given out of which three are alike in some manner, while one is different. Choose the odd one.

Ans X 1317
v 2 561
X 3 215
X 4 419

Question ID : 9895802540
Chosen Option : 3

Q.1 Select a figure from amongst the four alternatives, that when placed in the blank space (?) of figure X will complete the
0 pattern. (Rotation is not allowed).

|2
X
Ans -
F 8
52
o

Question ID : 9895802544
Chosen Option : 3

v
Q.1 Choose the option that most closely r b@.ﬂm‘ image of the given word if the mirror is placed at the right
1 side
PROWESS
Ans 1

KoL

223IMOR9

22EMOR9

223WoA9

22EWORd

Question ID : 9895802546
Chosen Option : 3
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Qz'l Choose the option i which the figure marked "X 1s embedded.

\

C?

Ans Xl- C
v2aA
X3 F
X 4D

Ans
X1 ><
V2 >dl< o A
X3 \< :&
x4 /{ b
[ J )
Question ID : 9895802545
\ Chosen Option : 2
Q.1 Eight friends A, B, C, D, E, F. H and G are sitting ircular table facing each other for a group discussion. A is

3 opposite F and second to the right of E. G is@ and’A. H is to the left of E. Who is sitting second to the left of

Question ID : 9895802533
Chosen Option : 2

Ans 1. BHOBT
X 2. BHIBT
v 3 BHKBT
&< 4 BHHBT

Q.1 In a certain code, LIGHT is written as GSTRO. How will GYPSY be written in that code?
4

Question ID : 9895802530
Chosen Option : 3

Q1
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5 Choose the odd word out of the options.
Ans o 1. KENYA
X 2. LONDON
X 3. LISBON
X 4 BANGKOK

Question ID : 9895802526
Chosen Option : 4

Q.1 Seven friends O, P, Q, R, S, T and U are watching a cricket match sitting in a stadium. P is sitting at one extreme end. T
6 s sitting between Q and U, and R is sitting to the immediate right of S and immediate left of Q. U is sitting second to
the left of P. Who is sitting second to the left of T?

Ans Xl P
X2U
viR
X1 Q

Q7-1 Find out the two signs to be interchanged to make the following equation co

25+26x2-7+3=17

Ans Xl"ﬂﬂdx Q
X 2 -and + %
v 3 xand +

Chosen Option : 1

X 4 +and-
° 0 Question ID : 9895802542

%! Which number will follow r% given number series?

2. 37, 82, 137, @

Ans of 1202
X 2 247
X 3147
X 4182

Question ID : 9895802537
Chosen Option : 4

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
9 s true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. Some joules are energies.
2. Some energies are radiuses.
Conclusion:
1. Some radiuses are energies.

II. Some energies are joules.

Ans X' 1. Neither conclusion I nor conclusion II follows.
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v 2. Both conclusions follow.

/< 3. Only conclusion I follows.
7< 4. Only conclusion II follows.

Question ID : 9895802536
Chosen Option : 2

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
0

Fierce : Violent : : Fallacy: ?
Ans g Ego
X 2. War
& 3 Fall
v . Tllusion

Question 1§ : 9825802527
Chosen Option :

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
1
BFI: AGK::DGJ:?

Ans ?(" 1. HCL
X 2 HCI @
v 3 CHL

X 4. CHC

Question ID : 9895802529
Chosen Option : 3

Qz-z ‘Which one of the following four-letter clust s% I belong to the group?
([
Ans X 1. JKN \
X 2. GMO \J

X 4 TIF
Chosen Option : 1

v 3 DPN :
:0 Question ID : 9895802525

Qéz Choose the option that would follow next in the given figure series.

K| ?
2
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Question |

Q.2 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is fols

4

Ans

along the dotted line?

2
Ko
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Question ID : 9895802547
Chosen Option : 2

Q5'2 Select the Venn diagram that best represents the given set of classes.

Ans

Squirrels, Parrots, Mammals
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Question ID : 9895802548
Chosen Option : 1

Qéz is a form of Sufi devotional music which originated in the Indian subcontinent.

Ans o 1 Qawwali
X< 2. Teej Geet

/< 3. Basant Geet
X 4. Kajri

Question ID : 9895803093
Chosen Option : 4

Q7-2 ‘The Story Of My Experiments With Truth® is the autobiography of .

Ans  of 1 Mahatma Gandhi
< 2. APJ Abdul Kalam
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/< 3. Jawaharlal Nehru

< 4. Narendra Modi

Question ID : 9895803097
Chosen Option : 3

Q.2 In the Indian constitution the section on Citizenship draws inspiration from which country’s constitution?
8

Ans X' 1. France

X 2 USA
X 3. Australia
v UK
Question ID : 9895803090
Chosen Option : 2
Q2 is generally sandy in texture and saline in nature o A
W isg 3

X 2. Black soil

< 3. Laterite soil
v 4 Arid soil

Ans X 1. Alluvial soil 0

Question ID : 9895803086
Chosen Option : 1

Q3
0 are receipts of the government which -redea,ble.
Ans 1. Tax receipts Q
< 2. Direct receipts ° 0

' 3. Revenue receipts &'\
/5 4. Indirect receipts c E

Question ID : 9895803088
Chosen Option : 4

Ans o 1 Rajvavardhan Singh Rathore
/< 2. Sushma Swaraj
X 3. Nitin Gadkari
X 4. Vijay Goel

Question ID : 9895803082
Chosen Option : 1

%3 The Lakshwdeep islands are located in the

Ans X1 Indian Ocean
< 2. Pacific Ocean
'3 Arabian Sea
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/< 2. Bay of Bengal

Question ID : 9895803084
Chosen Option : 3

Q.3 The Indian football player became the second highest scorer in the world as on June 2018.
3

Ans X 1. Gurpreet Singh
' 2 Sunil Chhetri
/< 3. Bhaichung Bhutia
X 4. IM Vijayan

Question ID : 9895803098
Chosen Option : 2

Q.3  capital refers to the variety of raw material and money in hand during the production.
4 ) &
Ans X 1. Fixed \
v 2. Working
3. Human
X 4. Physical

Question ID : 9895803087
Chosen Option : 1

Q3 The study of viruses is called .

Ans 1. biology
X 2. pathology ° OQ
X 3. paedology \

W 4. virology ;
@ Question ID : 9895803099

Chosen Option : 4
Qé3 The Gandhi — Irwin 'as ociated to which of the following movements of India?

Ans X' 1. Rowlatt
v 2. Civil Disobedience

< 3. Non co-operation

X 4. Quit India

Question ID : 9895803079
Chosen Option : 4

Q.3 The procedure to remove waste products and excess fluid from the blood when the kidneys stop working properly is
7 called :

Ans X 1. circulation
X 2 filtration
/< 3. purification
2 dialysis
questionpaperdrive.in
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Question ID : 9895803102
Chosen Option : 2

Qé3 Jammu and Kashmir has been given special status under Article

v 1370
< 2. 100
X3 111
X412

Question ID : 9895803091
Chosen Option : 1

Qf’ The small pores on the lower surface of the leaf are called

Ans "1 pore
/< 2. opening
X 3 cilia
' 2 stomata

Q0-4 The economist received the Noble prize in 19

/< 1. Dr. Manmohan Singh
< 2. Raghuram Rajan

« 3. Amartya Sen Q
X 4 Abhijit Vinayak Banerjece 0

2

Question ID : 9895803089
Chosen Option : 3

Q'4 _ arethe noma @Jammu and Kashmir.
Ans 1. Bhotlyas
X 2. Gaddi S

/X 3. Sherpas
' 4 Gujjar Bakarwals

Question ID : 9895803080
Chosen Option : 2

Q4 isthe most ductile metal from the following.
Ans X 1. Tron

X 2. Aluminium

/< 3. Copper

v 4 Gold

questionpaperdrive.in
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%4 The Hawa Mahal is located in which city .

Ans X 1. Delhi
W 2. Jaipur
X 3. Gujarat
/< 4. Agra
Question ID : 9895803094
Chosen Option : 2
Q4i4 The Judicial system in India contains a hierarchy of courts where is the Highest.

Ans X 1. Supreme court
« 2. Village Panchayat
/< 3. High Court
X 4. District Court

Q&‘;4 Who among the following was inspired by the ideals of the French Revi

Ans o 1. Tipu Sultan
X 2. Aurobindo Gosh

& 3. Amnie Besant Q
X 4. Badruddin Tyabiji Q
® 0 Question ID : 9895803081
Chosen Option : 1

Q.4 - . - -
o Which of the following is Ni 1butary of the river Indus?
Ans x 1. Ravi
& 2. Jhelum
< 3. Chenab
+ 4 Ganges
Question ID : 9895803085
Chosen Option : 3
Q7-4 is the youngest recipient of the Rajiv Gandhi Khel Ratan Award.

Ans X1 Geet Sethi
X 2 Virat Kohli
X 3. Vishwanathan Anand
v % Abhinav Bindra

Question ID : 9895803083
Chosen Option : 3

Qé“ ‘Which of the following reacts with water?
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Ans X1 silver
/< 2. Copper
X 3 Lead
v 4 Calcium

Question ID : 9895803103
Chosen Option : 3

%4 Lathmaar Holi is celebrated in
Ans X 1. Varanasi

/< 2. Ayodhaya

X 3. Dwarka

« 2 Barsana and Nandgaon

Question ID : 958&095
Chosen Optigf™. 4

oS is India’s first wicket keeper to have taken 300 catches.

Ans  of 1. MS Dhoni é

/< 2. Virender Sehwag

/< 3. Suresh Raina Q

/X 4. Sourav Ganguly

Question ID : 9895803096
Chosen Option : 1

Q5 )
1 %atlsthevalueof[ﬁixza 5 1]?

: 47
&

Ans

Question ID : 9895804260
Chosen Option : 1
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The data given below shows the number of people who have saved a certain amount of money.

Savings | Number
(in %) of
people
5 1
15 3
20 4
25 2
30 1
35 1
40 2

What is the mode of the given data?
Ans of 1320
X2 %30 @&
X3 325
X4 %15

Question ID : 9895804265
Chosen Option : 2

%> What will be the average of first four pag ultiples of 87
Ans x 1. 16 ¢

TS

<3 32

X4 24 @

Question ID : 9895804263
Chosen Option : 2

Q.5 The average age of 50 teacher! school is 66 years and the average age of 60 teachers of another school is 55 years.
4 What will be average age of teachers of both the schools together?

Ans  of 1 60 years
/< 2. 57.5 years
/< 3. 65 years
X 4. 62.5 years

Question ID : 9895804262
Chosen Option : 4

Q.5 The height of a cone is 24 cm and radius of its base 10 cm. If the rate of painting it is T 28/cm?, then what will be the
total cost in painting the cone from outside?

Ans X' 1. F 18880
X< 2. 720820
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< 3.7 17660
v 4 722880

Question ID : 9895804279
Chosen Option : 3

Q.5 Anil goes to his office at the speed of 35 km/hr and returns to his home at the speed of 30 km/hr. If he takes total 39

6 hours, then what is the distance between his office and home?

Ans X' 1. 420 km

X 2 525 km
v 2 630 km
< 4 210 km
Question ID : 9895804277
Chosen Option : 2
Q.5 The price of two articles are in the ratio of 4 : 3 respectively. The price of first article is increased by 50% and the price [ ] &
7 of second article is decreased by 10%. If the new price of second article is ¥ 54, then what was the original price of first
article?
Ans X'1.3120
v 2 280
X3.2100 &
X 4290 Q )
Question ID : 9895804271
Chosen Option : 4
Q.5 Selling price and cost price of a book are in the ratio of 3 : 4. What wii{je rofit/loss percentage?

33.33% profit

Ans  of 1 259 loss Q’
e O

X 3. 66.66% loss \‘\

< 4. 20% profit < ::

@ Question ID : 9895804268
Chosen Option : 2

Q.5 Calone can complete a wo avs and D alone can complete the same work in 30 days. In how many days C and

9 D together can complete the

Ans 51 6 days
W 2. 12 days
X 3. 15 days
X 4. 8 days

Question ID : 9895804274
Chosen Option : 2

Q.6 What will be the difference between the compound interest (interest is compounded annually) and simple interest on a
0 sum of 7 3200 at the rate of 20% per anmum for 2 vears?

Ans of 1 F |28
X 2. F 148
X3 F132
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X 4296

Question ID : 9895804273
Chosen Option : 3

Q€ What will be the Highest Common Factor of

ANl GRS
Ans X1 21 % 31 52

X2 21 %31y 5271

K3 23%x35x57x7!

V4 31 %52

Question ID : 9895804259
Chosen Option : 3

Y Sl is thevalae of [4+200+50+20f (-] 2

Ans fl 317
40

XZE

40

Y

40

X 4.2

40

O

A

N
o

Question ID : 9895804261
Chosen Option : 4

3 becomes 92 times of itself? &
Ans 1. 91 years
X 2. 195 years @%
o 3 105 years
25 4 210 ye 0

L
Q.6 A sum becomes 14 times of itself in 15 years at the rate of s& r anmum. In how many years will the sum

Question ID : 9895804272
Chosen Option : 3

Q.6 B is 20% more than A and C is 25% more than B. If C = 330, then what will be the value of A?
4

Ans X' 1. 198
X2 214
X 3 250
v 2 220

Question ID : 9895804266
Chosen Option : 2
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The table given below shows the runs scored by 4 different batsmen B1, B2, B3 and B4 in 5 different matches ofa

series.

Matches
M1 | M2 | M3 | M4 | M5
Bl| 120 | 95 [ 83 | 86 | 20
B2 12 8 0 | 196 | 52
B3| 23 | 36 | 45 19 | 27
B4, 56 | 65 | 85 | 45 | 42

What is the per match average number of run scored by batsman B3?

Ans Xl- 36
X 2 35
<3 28
v 4 30

Question ID : 9895804281
Chosen Option : 4

Q.6 The table given below shows the runs scored by 4 different batsmen B1, B2, B3 and B4 in 5 different matches of a ® ‘

6 series.
Matches \
M1 | M2 | M3 | M4 | M5

Bl 120 | 95 | 83 | 8 | 20
B2 12 8 0 | 196 | 52

B3| 23 |36 45| 19 | 27
B4| 56 | 65 | 85 | 45 | 42 @

What is the difference in the total number of runs scored by B1 and B4 in these 5 matches?

Ans Xl- 08 Q
v 2 111 (b
X 3 87
X4 124

Question ID : 9895804283

[ ) Chosen Option : 4
Q.6 The length and breadth of a rectangular garden is 12 d 9 c hat will be the area of the rectangular garden?
7
Ans -
X 1 96 cm? @
X2 112 em?
X 3 84 cm?
v 4 108 em?

Question ID : 9895804278
Chosen Option : 2

Qée IfA:B:C=4:5:6, then what is the ratio of (1/A) : (1/B) : (1/C)?

Ans X1 15:10:12
K 210:12:15
V3 15:12:10
X412:10:15

Question ID : 9895804269
Chosen Option : 2

Q.6 The perimeter of a rectangular table is 48 cm. If the area of the rectangular table is 128 cm?, then what will be the length
9 of the table?

questionpaperdrive.in
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Ans X 110 cm

X< 2 18 cm
\f3- 16 cm
X 4 12 cm

Question ID : 9895804280
Chosen Option : 3

Q.7 Rahul purchased 80 items from the market. 25% items of the total items were defective and the remaining items were
0 sold at 50% profit. What will be the overall profit percentage?

Ans X1 10%
v 2 12.5%
X3 11.11%
X 4.9.09%

Question IB: 9895804267

Chosen Option :

Q1'7 Ifa:b=4:5, then what will be the ratio of (a/d) : (b/a)?
Ans x 1. 4-:5

X25:4
V'3 16:25 @

Kal:1

Question ID : 9895804270
Chosen Option : 1

Q.7 The table given below shows the runs scored by 4 different batsmen B B4 in 5 different matches of a

Bl| 120 | 95 | 83 | 86 | 20

B2 12 8 0 | 196 | 52
B3| 23 | 36 | 45 | 19 | 27
B4| 56 | 65 | 85 | 45 | 42 E

2 serjes.
o
Matches
M1 | M2 | M3 | M4 | M5 \

‘What is the per batsman average runs sco v these batsmen in M5?

Ans X 1. 38.50
X 23925
V'3 3525
X 43275

Question ID : 9895804282
Chosen Option : 2

Q.7 Vivek, Dev and Lalit alone can complete a work in 10 days. 15 days and 20 days respectively. In how many days Vivek
3 and Dev together can complete half of the same work?

Ans 519 days
X 2. 5 days
v 3. 3 days
X 4. 6 days

Question ID : 9895804275
Chosen Option : 3
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Q.7 Anarticle is sold for 2 5360 after giving discount of 20%. What is the marked price of article?
4

Ans 1. F 6800
v 2 76700
X 3 6620
X 4.2 7000

Question ID : 9895804264
Chosen Option : 2

Q.7 Ifaperson is driving a car at a speed of 30 m/s. then in how much time person will cover a distance of 1620 km?

5
Ans X1 54 hr

V2 15hr
X3 13hr
X 4 12 hr

Section : English Language

Q1 Select the most appropriate synonym of the given word.

ENORMOUS %Q

Ans X' 1. Keen
& 2. Grand

« 3. Huge Q:
X 4. Puny ° Q
\ Question ID : 9895804124
Chosen Option : 3

Q2 Fijll in the blanks with optappropriate words.

Rohit taught yougudhtr asthese, 2
Ans of 1 didn’t he
X< 2. hasn’t he
X 3. has he
# 4 did he

Question ID : 9895804114
Chosen Option : 1

Q3 Select the word which means the same as the group of words given.

A person with odd personality
Ans of 1. Eccentric

/< 2. Egoist

X 3. Entomologist
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/< 4. Ecologist

Question ID : 9895804127
Chosen Option : 1

Q4 Select the word which means the same as the group of words given.

Handwriting that cannot be read
Ans X1 Legible

/X 2. Corrigible

X 3. Negligible

v 2 Tllegible
Question ID : 9895804128
Chosen Optioa: 4 ‘
Q.5 Identify the segment in the sentence which contains the grammatical error from the given options. \

Buses run from this bus stand every few minutes because you shall not have to wait.

Ans X 1. Buses run from
X 2. every few minutes é’
& 3. have to wait
« 2. because you shall

Question ID : 9895804106
Chosen Option : 3

She gave a loud shout, which heard across the vill

Q.6 Identify the segment in the sentence which contains th@aa !rmr from the given options.
[ ]

Ans X1 She gave

& 2. loud shout %&

' 2 which heard

X 4. across the vi

Question ID : 9895804105
Chosen Option : 2

Q7 Select the most appropriate word to fill in the blank.

The forest officers a leopard cub trapped in a pit.

Ans of 1 discovered
X 2. founded
X 3. invented
X 4. searched

Question ID : 9895804111
Chosen Option : 1

Q.8
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Select the most appropriate meaning of the given idiom.

Get out of hand
Ans 31 Appreciable

v 2. Uncontrollable
/< 3. Manageable

X 4 Controllable

Question ID : 9895804125
Chosen Option : 1

Q9 Select the most appropriate synonym of the given word.

DUBIOUS

Ans X1 Delicate o A
X 2. Dutiful \
/< 3. Duplicate &
' 4 Doubtful

ion ID : 9895804123
Chgsen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sente IE o need to
0 substitute it, select No improvement.
ns

Rishi cleared the IIT entrance examination but de not pursue engineering due to |
Ans o 1. did not pursue

/X 2. was not pursuing Q
'O

/X 3. No improvement

Question ID : 9895804109
Chosen Option : 1

X 4. has not pursue &\

Q1.1 Select the most &ﬁ antonym of the given word.

ORDINARY
Ans o1 Unique
& 2. Common
/< 3. Normal
< 4 Regular

Question ID : 9895804121
Chosen Option : 2

%! Fill in the blanks with the most appropriate words.

They did it as you them to.
Ans 1 are telling
v 2 had told
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X3 tell
X4 will tell

Question ID : 9895804113
Chosen Option : 4

%t Select the correctly spelt word.
Ans  of 1 Playwright

/< 2. Playwrite

X 3. Playwriter

< 4. Playright

Question ID : 9895804130
Chosen Option : 4

Q.l e - . . . -
o Select the most appropriate meaning of the given idiom.

To hold your horses

A

&\

Ans X 1. To control horses &
« 2. To have patience @

< 3. To be too quick Q
X 4 To be excited

Question ID : 9895804126
Chosen Option : 1

C h ion:
omprehension ° Qe;

In the following passage some wor
blanks with the help of the alten% FHvern.

Suppose you have to m
coins: but it would be
because it takes mugh €

en deleted. Fill in the

nt of Rs. 100, you can do so in
1) to pay in nickel or copper coins,
(2) them. The government

(3) permyj ake the payment in (4) What are
these notes rea‘l:ﬁy are a kind of money although they are made
of (5)1 of metal.

SubQuestion No : 15

.1 " - - - .
Qs Fill in blank (1) with the most appropriate option.

Ans  of 1 cumbersome
< 2 feasible
7< 3. practical

/5 4. easy

Question ID : 9895804116
Chosen Option : 4

Comprehension:

questionpaperdrive.in
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Suppose you have to make a pavment of Rs. 100, you can do so in
coins; but it would be (1) to pay in nickel or copper coins,
because it takes much time to (2) them. The government

(3) permits you to make the payment in (4) What are
these notes really? They are a kind of money although they are made
of (5) instead of metal.

SubQuestion No : 16
21 Fill in blank (2) with the most appropriate option.
Ans of 1. count
X 2. pay
3. hold
5 4. carry ° &

Comprehension:

In the following passage some words have been deleted. Fill i -
blanks with the help of the alternatives given.

coins; but it would be (1) to pay in nickel or coins,
because it takes much time to (2) them. ‘t% nment

(3) permits you to make the paymenyiy (4) What are
these notes really? They are a kind of mon& wugh they are made

of (5) instead of metal. O
SubQuestion No : 17

21 Fill in blank (3) with the mo M ate option.
Ans (1. although %

&2 s0 @

< 3. then 0

v there-forO

Suppose you have to make a pavment of Rs. 100, YO‘%Q’ in
VEL

Question ID : 9895804118
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Suppose you have to make a pavment of Rs. 100, you can do so in
coins; but it would be (1) to pay in nickel or copper coins,
because it takes much time to (2) them. The government

(3) permits you to make the payment in (4) What are
these notes really? They are a kind of money although they are made
of (5) instead of metal.

SubQuestion No : 18
Q.1
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8 Fill in blank (4) with the most appropriate option.
Ans  of 1 notes
& 2. coins
< 3. card
/5 4. currency

Question ID : 9895804119
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Suppose you have to make a pavment of Rs. 100, you can do so in

coins; but it would be (1) to pay in nickel or copper coins,

because it takes much time to (2) them. The government ) &
(3) permits you to make the payment in (4) What are

these notes really? They are a kind of money although they are made \

of (5) instead of metal.

SubQuestion No : 19 &
Qél Fill in blank (5) with the most appropriate option. @
Ans of 1 paper

/< 2. plastic

Question ID : 9895804120
Chosen Option : 1

< 3. wood (b
& 4 cloth ;Q

Q.2 Select the most appropriate option to substitute the u ined s nt in the given sentence. If there is no need to

0 substitute it, select No improvement.
Don’t talk as soon as she is dancing. @

Ans X1 how
+ 2 as long as

X 3 but

/< 4. No improvefhent

Question ID : 9895804108
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
1 substitute it, select No improvement.

India expressed concern at the arrest of 130 Indian students enrolling at a fake university in Detroit.

Ans X 1. enrolling in a fake university
/< 2. No improvement
' 3 enrolled at a fake university

X 4. enroll by a fake university

Question ID : 9895804110
Chosen Option : 3
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%2 Select the correctly spelt word.
Ans X 1. Succesfully

X 2. Successfuly

X 3. Sucessfully

v 2 Successfully

Question ID : 9895804129
Chosen Option : 3

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.
3

The work is too much for any man to do single-hand.

Ans X' 1. too much

& 2. The work is o A

/< 3. any man to
+ 2 single-hand 0

e : 9895804107
n Option : 1

u
Yy
Q4 Select the most appropriate antonym of the given wmdQ

VIGOROUS (b
Ans  of 1. Feeble Q

X 2. Curious Q

& 3. Trivial

/X 4. Strong

Chosen Option : 2

:‘N\ Question ID : 9895804122
AN

%2 Select the most appg '@md to fill in the blank.

I shall be glad A@_ my proposal.

Ans X 1. except
/< 2. expect
X 3. intercept
o 4 accept

Question ID : 9895804112
Chosen Option : 4

Section : Hindi Language

Q1 Tr=fofem # @ 3% feey & 909 &1 &t ' Fieg 1 39 =1 ' qgrEt 7 31 s@wT =T ¢
MK ¥ F mEe g e
Xoga @ HIeg TTeATe]
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v R w1 F W @
X4.ﬁqﬁéaaﬁﬂm

Question ID : 9895803513
Chosen Option : --

®* R T Y s F T TR 39gEA UeE F1 99T A
HIeIeTH TgT i o

ANS X1 e
X2 g3
v sr
Xoo7g o A

o] : 9895503501
Chose ion "

O3 T a3 I ARg W T w1 @

Ans X 1. SITTET

X 2 FHIET Q

v o ST (b’
X 4 TTIHT

Question ID : 9895803517

Chosen Option : --
Q4mmﬁm*m$ﬁaﬁwmﬁl

U‘

Ans (1?@'
i Q«
xome O
X 4 3R

Question ID : 9895803498
Chosen Option : --

®° R TR F R % T wew 39ged oeg 1 9T

AT 92T & i T ?
Ans of 1 Iedl
X 2. TEPR

X 3 A
X 4 el

[ Question ID : 9895803499
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l Chosen Option : -

Q6 R av A # @ifed B # yforuRE s & BT Taw suged ReeT & 90w w5
TF W FES B gy H B A &

Ans X 1. reret #Y FTY F FET
Vo FETE W ST H ST
X 3 FETS F TT F AR
X 4 FETS FT T H T

Question ID : 9895803495
Chosen Option : --

¥ R TR F s % T wed 39ged oeg 1 9T

([
TEde @l T T &

Ans of 1 TeT 0
X2 9g
X5 o &

<

X 4 TFreg

Question ID : 9895803500
Chosen Option : --

I T T F BT T Uq=
ST TEr & JHEA 2 . Q
ns o1
A XZ;T \
X3 R @%

Chosen Option : --

x 4. 3_"% 0
0 Question ID : 9895803514

Q9 R 1w arw & Wiftha Tz F ywfie = & B Fa8 39w BeeT & 797 #
e g=oIY gAN 9 g & S § & ENT #A §al IS B o

M 1 o geoTd AR W g @ S
X2 I ZTOI¢ g7 W gE & A g
X3 & $TON g W g & I §
X 4 9 TTOIU 34 9T gar & S &

Question ID : 9895803497
Chosen Option : --

Comprehension:
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fow 1w steg=te # o oreg g faw v ¥ fw v Rent
e ¥ od vue s s wE & v wEd 3uged
faereT 1 I3 F

TR # 9gd O TEqY aN-aR A wedr §1 g IR aege
w_ (A st Ag @ Wwer _ (2), FAS
e dT, @rar 3=aT 3 €9 HT| gear T 9ger AT E -
AT YaUA| ‘el el T TE (3) T RA AT & &A
SEd & & aY # IHH (4) AT ATl A HF F
TIF FATAT g, 3EF 8 A aAfasy (5) & = 2
SubQuestion No : 10
S g # @Had e (1) F e saged
g g9 -
Ans xl-m P '\

v 6’&\

w+t

X 4 et
éﬁtion ID : 9895803503
sen Option : --

Comprehension:

few av T=tE # TT oeg g fqv A § T fr
TeTar ¥ g = 911 9 9 = & ERDCT
ReeT & I3 F1

TER # 9ga @ qEgY a-AR 1 frg o® I=ge
wff (1) 7 e Hg @),
Trerer dir, @aT 3EE | H%edT T Ugel AT ¢ -
AT JEUA| ‘Tel AT (3) =1 WH HT &l A
ST FEw AT H (4) FTAT =TT A AT P
T AT 8, drafess B @I d

SubQuestion No : 11
Y g # @ Ed T (2) F R e
e IR -
Ans oF 1 T
X2 F5
X 3 o
X 4 @

Question ID : 9895803504
Chosen Option : --

Comprehension:
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few 1w Hg=d # TT g g Rw v §1 Rw av e H
e ¥ fod wue s s we & O wEd 3uged
e 1 T3 F

TR # Tgd W TEqY AR e wear ¢ R IR IEge
FeY (1) & 377 He & ear (2), AT T
e dT, @rar 3=aT 3 9T gET) gEar FT 9ger AT E -
AT 9OU| ‘FeT 7T HT TE (3) *T WA AT g1 g
S &% & 8T # FHH (4) FLAT TAMMRETI FAr T H
e FAGT g, 38d H{d AR Hesa (5) & = 2

SubQuestion No : 12

ana;ahrﬁn‘#ﬁaﬁaﬁmﬁ(a#%vmgﬁ

oTeg, BT -

Ans «LW o »\
&< 2. TR \
o <
X 4. FRerdT

stion ID : 9895803505
sen Option : --

w+t

Comprehension:

v 71w =T # o weg g1 Rw 7w § T &#r
T ¥ Toa = o1 e §E + 39gFd
ereT F1 I9T FL

TER # §gd @ TEGU a-ER | g IR FEgC
(1) 7 e He @, FA=E
Feper dx, @ 3=OT | HeIAT T Ugel AT ¢ -
AT 9oUS| ‘T 7T (3) *T WA AT &1 g
T FHETH (4) =TT TTET| FT HIT T
s §4TT §, 3T stfesg (5) & = 2

SubQuestion No : 13
S g # FHAd R T (4) F e suged
eg BT -
Ans xl- m
< 2 iR
< 3. HATIOT

=

v BT

Question ID : 9895803506
Chosen Option : --

Comprehension:
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fow aw 3=t F Fo owg ger fgw A §) R aw et f
e ¥ od vue s s wE & v wEd 3uged
ReFeT F1 I3 FL

TR # 9ga O TEqY aN-aR A wedr 81 g 9R aege
FN (W AS T gE A w2, FR
e dT, @rar 39wt 3T 97 HT| E9ar FT 9ger AT E -
AT 999| ‘HeT F4T HT TE (3) #T WH AT &1 TH
T F & &Y H ST (4) FLAT TET| A HF Fr
T FAET ¢, 3EF 0 3R afesy _(5) & 5= &l

SubQuestion No : 14
% gy # @elad fwa e (5) F e e
g BT -
Ans 4’ 1. %ol ® &

i 6’0

X 4 Ryswer
stion ID : 9895803507
sen Option : --

w+t

% T T G aee T IO F

* P o
s

v 2 3FE

X 3 355 .\Q

X 4. 3FE \4
% Question ID : 9895803516

Chosen Option : --
eF T TAT L

Question ID : 9895803510
Chosen Option : --

§ R T e # e T
ot

Ans
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X1 i
v im
X gam
X+ fiar

Question ID : 9895803509
Chosen Option : --

Qél =fofa # & 58 Reey & 99w & 31 ' 3@ o | Jga & #Y gad HT g
Ans X 1 greafassar & arer g
X 2 w5 AT gar

X 3. ITAS FIH FAT

v 4 g AT @t o A

Q io : 98953803512
Chose| ion °

%! fir gy ¥ T o o &S @

St wefr g 7 A Q
Ans X]-Iﬁaﬂ' %

X2 {AEY

o S
w S

Question ID : 9895803515
& Chosen Option : --

X 4 FAa9eeld

Question ID : 9895803511
Chosen Option : --

%? T 1T e @ 9g T A S w8 IR

HTYUT U HHISF wel ¢ [ode gay &ffes gaeas & g gl
A o L oTeUT U WA e &

X 2 g dee

X s fafe gmEst @
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X o g g

Question ID : 9895803493
Chosen Option : --

%? R oTT T # 9E ST A S #1183

$H WIER 1 T # HR-A F A HeAd HHA T T 1T &
Ans X1 3mEErer ¥ gIF

Vo sHTETFIFT A

X s 9gT AT B

X 4 grae 3TOET X

Question IB: 9@492

Chosen Optiog,/=

Q2 few 1w arF # wifea @s @ savufie &= & BT 798 39w fTwew & 997 #{
T e m SR feam o EER W A B e e 3 &
A o 1 amerm 3R Rrearw ¥ mEl @

A 2 3 AT FeEE ¥ @ Q
O

& 3 Fmem #T FeErE 9T "3Enr
X 4 FmRm #T FeErg & e Q

Question ID : 9895803496
Chosen Option : --

Qz%umama:rﬁa‘mz@é

ECEY
Ans Jl L=r=r—1

X2 FE
A s garar

X o oM

Question ID : 9895803508
Chosen Option : --

% R 7T T # 3 AT A9 wY S S IR 2

IETT TT HFTTH TFrar FT v AufenT g
Ans o 1 FTEAT W

X 2 femar &

X 3w AT B

X 4 IFETT
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Question ID : 9895803494
Chosen Option : --

questionpaperdrive.in
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